
 
 
 
 
 
 
 
 
 
 
 
 

Material Data Sheet 

These parts have been manufactured in accordance with all 

required standards below 

 

 

 

 

 

 

 

 

Part Group FC010 - Flat Washers  

Standard AS1237: 1973 

Material: Mild Steel Equivalent to AS1595/Q235 

Heat Treatment: N/A 

Plating/Finish: AS1789 FEZN 5C Type A Zinc Cr3 

Part ID Description/Size 

1000245 M2 x 5.0 x 0.3mm 

1000246 M2.5 x 6.5 x 0.5mm 

1000247 M3 x 7.0 x 0.5mm 

1000248 M4 x 9.0 x 0.8mm 

1000249 M5 x 10.0 x 1.0mm 

1000250 M6 x 12.5 x 1.2mm 

1000251 M8 x 17.0 x 1.2mm 

1000252 M10 x 21.0 x 1.6mm 

1000253 M12 x 24.0 x 1.6mm 

1000254 M16 x 30.0 x 2.0mm 

1000255 M20 x 37.0 x 2.0mm 

1000256 M24 x 44.0 x 2.0mm 

 

32-34 Laser Drive, Rowville, Victoria 3178 

P: 03 9763 0833         

mailto:sales@wasca.com.au
http://www.wasca.com.au/

